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1. One feels colder if there is more wind in winter, at the same temperature.

2.The wind chill temperature [for living thing only] is calculated by: [http://en.wikipedia.org/wiki/Wind_chill]

Twc = 13.12 + 0.6215 Ta -11.37 V0.16 + 0.3965TaV0.16
where Twc is the wind chill index based on the Celsius scale, T a is the air temperature in °C, and [image: image2.png]


is the air speed in km/h measured at 10 metres (33 ft), standard anemometer height). 

Windchill Temperature is only defined for temperatures at or below 10 °C (50 °F) and wind speeds above 4.8 kilometres per hour (3.0 mph). 

3. Another reference http://www.nws.noaa.gov/om/windchill/windchillglossary.shtml
Windchill (ºF) = 35.74 + 0.6215T - 35.75(V0.16) + 0.4275T(V0.16)

4. http://weather.ap.polyu.edu.hk/ login and password in data download
5. www.weather.gov.hk/education/edu01met/wxphe/ele_windchill_c.htm gives some Chinese Introduction.
6. The conversion of mile to kilometer:

 1 mile = 1.609 km

7. The conversion from Fahrenheit to Degree Celsius of temperature:
[°F] = [°C] × 9⁄5 + 32, [°C] = ([°F] − 32) × 5⁄9
8. Calculate windchill temperature under different temperature and wind speed conditions using MS Excel.
9. Hand in your report by:______________________________ 
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